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&ﬂvL'.'alitc/})c:..gﬂu:}l:éi&,_.:&b&dlf/;/,'l,{(qm -u}éfz_.) DsCB:A .:l.,lﬁ.vfﬂgédlr/: /d;,«
K ﬁvl:?ul( RIS /,f :;KLL/ )':( Usbmliekl &os A cgﬁ&/ﬁhﬁ/’bj&‘? 1
’_ D | ¢ | .B ! A Questions / =iy P
oo ued | sk ‘T o s
' Base Exponent | Radicand . Radical |In 3° the 5 is called: L
1 Jg((' Jg:;w u,?&g/,bh Jf)/ :“:_.t'lgg@/,d/l'g/k Jﬁ'(uﬁgfg 23!
1 . ; \ The tax charged on all the taxable income is 2
| Income tax | Excise tax Direct tax | Sales tax | caljed: »\
\r h;LfJL (l“‘/"/,, O 4 S The periodic :w;ffbﬁ&?d/l)lzj./séﬁjﬁ"; 3 "
Markup Premium Discount Bonus instalment to be paid by the insured is called: ‘.,_i
100 xvd e | 100xedped 3 ‘
em (TS sl 00ndl v=yfmd] 5 |
Discount x 100 MP + Lod$s~SP ‘ 100xSP CP=2? | 1
MP Dispolill 1700+ Profit% ]
| GG # 1 0 15000030 S TS Sl Osdod
i “S r o ‘
20000 15000 5000 ! 10000 Ushr on a wheat crop produced on ?;,( an‘f ‘ 3 ‘
‘3 | E natural resources amounting to Rs. 150000 is: o
5000 | 2500 \ 1500 | s00 ,?“—U'/?"( J4did0 2000000 ¢ |
! | Zakat on Rs. 200000 is: : ‘
| ' e T
15017 15:19 915 | 17:15 e ParlfTs0s
| Lowest form of 75 : 95 is: R
e | wiev | b | o BT AR Sabied
\hAntecedents Consequents, _Extremes Means  |In proportion a:b::c:d, “b” and “c” are called: ‘
n, | _ Lair PO e el f SIS 2
} 2o s Sy S Uf When a bar grapH is constructed :;.L"Lly( I ALd 9 ﬁ
Bar diagram | Histogram Ogive Curve so that area of each bar is proportional to the | ‘
number of items in each group is called: | J
0 6 3 5 y=?;uf‘{/x=2ufy=3xffi 10
Ify=3xand x=2theny=7? | i
§ |
a0, (3, 4) (.2 | U-A=? MA={1,2}/,1U={1,2,3,4}5 i |
| ) IfU=1{1,2,3,4} and A= {1,2} then U ~A =" |
1 } AnB:?iun:,gJ;»B/,sAﬁ 1}
. BUA A NB BNA o If A and B are two non-empty overlapping sets, 12|
| then ANB=7 , .
vl il pe ':‘: 2 i
T 162 161 160 : _j’"“("“w 3508 2,6, 18,0y 3 |
\, ag of 2,6,18,...is: _ T
i \/—2— _2\/5 +2\/§ 2\/5 ?(E__LJ/J:/JL}/"UL/J)L 8 st 1 14 l
1 - G.M. between 1 and 8 is: ! |
o P E l
i )_AFQLL’ L J‘é" e :uj&:’ff/’Lmﬁgu:(}{J{ﬂé)ﬁf l
Rational " _ . |In the logarithm of a number the integral part is 15 i
‘ Mantissa Real part | Characteristic|a{jed: i ;
number called: |
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(Part-1 : Jii.2)

12 Write short answers to any SIX parts. -a‘f.:,yzf“? £;l'/.l‘g¢_(§f =2 q
Simplify the ratio —i% :2 in its simplest form. -a“u:fuw‘f% 20 W '
= . 7 .. c
Ifa:b=2:3 find the ratio of 6a : 5b ~Erk6aiSbinab=2:30 (b
Define proportion and write its symbol. ey IngEy P St Gid
Calculate the amount of Zakat on an amount of Rs. 500000. -g‘,fr:l”s,fjf_f- A &1, 500000 (iv)

Write the rate of Ushr if the land is irrigated by natural sources. -sY 0. &Kc.éw&/ﬁuf)ﬁg‘,f Ul ALH W)
-é{'}l”/“/?%u 350000 C{LJA}erfuPl&c.él/)Jr” (vi)

Calculate Ushr on a wheat crop amounting to Rs. 350000 produced by artificial resources. )

I IS 3 g ss 6850 S3F e 6590 Wik i) (i) d
If a television is purchased for Rs. 6590 and sold for Rs. 6850, find the profit percentage. :|
Find SP, when CP = Rs. 1540 and loss = 5% 5% = Mg 1540 = 47 ed G ZE b o3y f 2 i) :
12% = s ngss 858 = s pod Lot oot (ix) ;
Find marked price, when SP = Rs. 8587and discount = 12% [
12 Write short answers to any SIX parts. & al,lﬁ/? L,rzu;cd/ 23 :
What is KIBOR? < KIBOR () 4
L e SIS OTEAS S ¥ i)
Write any two allowances included in gross income of a salaried person.
e Ly IS TP 16% o 1400000 e d i Sobgl (i
The annual income of a flat is Rs. 1400000. Find the tax payable-at the rate of 16%.
Simplify 9\l(x"4y3)_3 with positive indices. _é?'_aui‘(/.:,;"c‘ﬁ_,mul“é/gf 2 32 G
Simplify: SX% X 2x% Sx31 x 2xé 2 A2 (V) d\
Write 0.86x10* in decimal form. ; -&Vu!‘f}uf,/&ﬂ/ 0.86x10* (vi) '_‘
What is geometric sequence? . A3 st (vid) ;
Write first two terms of sequence of a, =3n -5 i, S a, =30 -5 A (viid) i
Find geometric mean between 5 and 9. -ér)’”»;&/uyué 549 (ix) ;
12 Write short answers to any SIX parts. STy 4 L;lzugc._éf 4
BUB' =UJS&=tB={9,10,11,..... ,203  U={1,2,3,..... 20001 (D)
IfU={1,2,3,..... ,20},B={9,10,11,..... , 20} then verify thatBUB' = U
i CxCinC=(, 20 G
If C= {1, 2} then write the number of binary relations in C x C.
Define function. S S Gib
Represent the point C (6, -3) on graph. - C6,-3)5 (v \
Convert 25°C in °F with the help of formula. SR OF csulir i 25°C (v) d
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Recognize the abscissa with the help of figure. - 5 S [o4 dlt (v
Define measures of central tendency. /} @ﬁ"— 4 r}y -5;5_@ /7 i !g.J u‘t?-/df  (viD)
Find the range of data: 2,9, 3, 6, 12, 8 2,9,3,6,12,8 :érrl’”;//d/:l/(viii)
Find the AM of the data: 184,191, 172, 168, 187, 189, 196, 186, 193, 195 :g‘gpl’”knl(}v{;w (ix)

A8 Ly gy Felinl ey e S o
Part - II, Attempt any THREE questions. Each question carries 08 marks.

*Lunpyr L tuds 12 coslusd 18 . tLsiper 600 Jtuds 9 Lust 20 LS 2Ll (L) S
A factory makes 600 suits in 9 days with the help of 20 machines. How many suits can
be made in 12 days with the help of 18 machines?
‘ 3:2:5 el Utur Lo E o1 200000 gl (L)

Distribute Rs. 200000 as a profit in a business regarding three persons, if their shares are
intheratio3:2:35.

-5 070411 5000 =Sty st JH_ss 40000 B Sy NG F 5834500 07 40 it 3 10 () -6
Calculate the amount of Zakat on’10 tola gold and 40 tola silver, if the rate of gold is
Rs. 40000 per tola and the rate of silver is Rs. 5000 per tola.

g 8500 4 Ub 3 Soreins 680 (ki B foi” (L)
At what annual rate of profit would be sum of Rs. 680 will increase to Rs. 850 in 3 years
and 4 months?

:fd%u 70 ﬁn,ud’&,du;-c‘,énﬁuv,ﬁfé%u 70 LnL/rQ;ﬁJ&'[S e 6 u:;»‘.’ﬂ(fl/’ () 7

b $ A AUt S K0 40 0 Sl 715
Aslam gets paid Rs. 70 per hour for his normal working 8 hours daily (6 days week). The
rate of over time is 1.5 of Rs. 70 per hour. If he works 40 houts as over time, then workout
his gross monthly pay.

n=314r=624R=83.6 v=1190« h=———— £ h ()
m(R™—1°)

Findhif h= ———2Y~—2— ,whenv=1190,R=83.6,r=62.4, n=3.14
(R —r
2T 9 e d S apss SR E b a1t g2 (L) 8
Find the 11th term of a G.P whose 5th term is 9 and common ratio is 2. ~
fjé..ut“?nB ={7,8,11,12}.s A={7,10, 13,14} < U={7,8,9, 10, 11, 12, 13, 14}/‘/! ()
(ANB)° = A°UB®
IfU={7,8910,11,12,13, 14}, A= {7,10, 13, 14} and B= {7, 8, 11, 12} then
verify that (ANB)° = A°UB®

Draw the graph: y = 3x y=3x :Eff/Jl/(Jl) -9
Find mean and mode of data set: 3,5,6,8,8,9,10 :ép‘”‘ubuw:l%w (L)
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&fU»‘é:..,afﬁ.:uwc.dfu;fl)éz&‘—)&lrédlrﬁf,‘éﬂ}lﬁ -;{!i’c‘r: D . CBA s:«&lﬁ.’f/(gédlr/z A
K quuf e §i S, /,'/ s j,:( Ustmslie Ll ~&us e ol SISt S 1
D C B A Questions / Uiy Y
3 10 9 e eer§2,3,8,9,6,12.rd s
Forthe given data 2, 3, 8,9, 6, 12 then R="7
ol polcbrd | il oy e bbbl I(x - X) =0|
Mode HM. AM. G.M. Z(x; - X) =0 is one of the property of:
Jg;y’w gfgﬁ’/l dgubgl/j Jg/lf :f;t'%"f"t'(?w/:d“f‘f? JGYL?{?JE”’ 3
. . The tax charged on all the taxable income is
Excise duty | Incometax | Direct tax Salestax |called:
6 4 ) 0 XZO,,QJﬁgM:.Jywy:ZXoUP 4
Forx =0, find y from y = 2x
&WKU)’&’ U)’UKU(JLL“ r/'lﬁ‘c'«c’.lé JJVMB 1§-JW(AU(BUC)=(AUB)UC 5
Intersection of| DeMorgon’s | Associative |Commutative | 4 | (BUC)=(AUB)UC is called:
sets law law law '
S
¢ U A us pUeA g
! IfoU¢
\/5 _2\/5 +2\/-2' 2\/_2_ ?CL-LJ/L"JL}/}’C)”VJ}L 8 4l 7
B G:M. between 1 and 8 is:
Ak é‘éf—" /’“C /“::;{ 0. %dﬁ)l/v(b”ﬂ/ﬂiui/ufd@uii g
A maching installed by the bank to dispense cash
Card reader ATM Scanner Computer itg customer 4§ called:
! U'ﬁJ,L,J'J;J' 580 u)/};’ :wtdfa,l%&lwzz!dfdléuj/ﬁlﬁfj(
Insurance The company undertaking the act of insurance 9
Insurer ; Insured Insurance |5 called:
policy :
1 2 3 O o ] :9/BK53‘764 by 2 10
Characteristics of 53.764 is:
. q 7 ) ?%b@gﬁﬂgﬂ(ulfrfdﬂmﬁ} 1
Busineéss partnership is divided into ___ types.
A A AN A Rl Py
25% 2.5% 10% 3% On a crop produced on artificial resources, 12
Ushr is deducted at a rate of:
i e 3 55422, 1000000
0000 2500 - 5 13
Al 4000 ‘ Zakat on amount of Rs. 1000000 is:
10% 30 13% 13 . esrfdAon) gy
0.13 in term of percentage is:
¢ T g
201 10:1 511 4:1 P00 s
Lowest form of 20 : 5 is:
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12 Werite short answers to any SIX parts. -ﬁa@lﬁf? Lplzugc,éf 2
s IS IE S ST ST 40 e 524 D

Increase 40 books in the ratio 5 : 4, what would be the number of increased books?

In what ratio 60m? be decreased to 24m?? ?g.CCw’[/’.’d/ 24 {2, 60 ey’ (D)
Write simplest form: %—i— f;--i- :ﬂuﬁfuvff:,? (iiD)

e B 400 Bt £ PSS 500 G
Calculate amount of Zakat of silver of weight 500 grams if rate of silver is Rs. 400 per gram.
-.épbméufye:»z-uﬁ)u,«’lg-dbz’m,g;é:z;.u‘_w-w,{wwoéu;u 4800000 &p/1 (V)
Akram left a property of worth Rs. 4800000. He left behind a widow. Calculate the share of widow.
' -5‘:{(51"/"‘44;51 800000 C{JLL)‘;JJ)%D)}I&G—&U}(EJJ; i)
Calculate Ushr on a rice crop produced by natural resources amounting to Rs. 800000.
%8 = .uﬂ.f/:ld_ru 515.20= &J)dﬁﬁirﬁ’doﬁaﬂ (vii)
Find marked price when SP = Rs:515.20 and discount = 8%
-éf:""uﬁyﬂfuuﬁgdl-%t'/&v.uw 8 J:;,u._gl/;!‘gt'»__/'uy't‘ 6 p(:gu..{i Jets(viii)
Daniyal buys 6 sweets at a rupee and sellsthem, 8 sweets for a rupee. Find his loss percentage.
5% = Lof sless 2760 = edeibln S e fed ()
Find selling price when MP = Rs. 2760 and discount = 5%
12 Write short answers to any SIX parts. Sy 4 L;lm%’r—é!/ =3
&9, 22,3449 = Jk/d)}’/ -“édﬁ'ufu;:’udbfk[d}_/d)f’ 500 (D
Convert 500 Saudi Riyals into Pakistani Rupeés. Saudi Riyal,= Rs. 22.3449 '
Define indirect tax and give example. <é::dk‘/u§r/:l~é..é}/.’\fu’g}/l)§ Gn
?J}’i(}//’)!;/L?/J[LUL&/.UZ}J{;%%—J/ 18000 d@/)édi}dfﬁ-;.ﬂgképfg}f 16% /,‘,u"'/,ﬁuxf (i)
A sales tax of 16% is imposed on television. If the marked price of the television is Rs. 18000. Calculate
the total amount one has to pay, if he wants to purchase it.

.Qs.(._-_-_-__-__-__SL/__‘&LA‘-—.—,..LA'L A

Iy SEumg A xBInB={1,3} A= (3,5, 6} S G
IfA={3,5, 6}, B={l,3} then find A x B and write two binary relations.

Simplify: 4/8a° Ysa® LA (v i
3 3 .

3 ‘ 1 -
Simplify: 2% 2L L W) {
4x5 4x5 £
7 . . . <
Simplify and write your answer in scientific notation: -0;29-—631%?— s ﬁ?u" L/.._,l,?ul“é A7 (i) :l:

X

Find the sixth term in the sequence: 1, % g -;— ; -217- e , 8¢ :;;f(:l"‘fwjd”’:gf% (vii) .
Find A.M. between 4 and 8. _“é(,lvmd‘fuyué 8 st 4 (viii) :'
¥ind the Firtermefa GP, 2.8,.52, ... .. A 2,8,32,. IR GY)
12 Werite short answers to any SIX parts. _Jaglﬁ/‘f" Z.»l?.ugr..(jf -4 :
L AUCTC=(3,4,5 T} A= {L4T.8)/ © :
IfA={1,4,7,8},C={3,4,5,7} then find AUC J.‘

¢
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Define intersection of sets. ng /)/PM -Ew e Lok (i
Represent the point (- 3, 7) on graph. &k /;W4Jlf S (=3, 8 Gv)
Convert 150°F into °C. ‘ ~EJe s eC T 150°F (V)
Define origin and draw its graph. _éﬁW4Jlfz:l§fJprly (vi)
Find the range of data: 5, 3, 2,-10, 15 5,3,2,10,15 :g.:(}’”:,z/d/;lr (vii)
What is the difference between mean and median? - Cudi PHe-s st bl Y (viid)

Find mode of data set: 4,3,4,5,4,5,3 4,3,4,5,4,5,3 ek ulbr Loy (ix)

-wﬁ'} 08 LJIy/;-:é/"/’ayﬁLc«ﬂlruf.cé/rf»/?
Part - II, Attempt any THREE questions. Each question carries 08 marks.

S nedVuse 30 &g s 22000 iS5 80 (L) -5
The price of 80 shirts is Rs. 22000. What would be the price of 30 such shirts?

10500 etos Jioat SIS VE 48 8 ssicte /. =33k 1s 12000 S s LA s6n ()
?(yzgulaeﬁﬂé KJ’;L/&A;L}:%—JJ

A shopkeeper gains a profit of 8% by selling a washing machine for Rs. 12000. If he sells
it for Rs. 10500, find loss percentage:

(2 U L] e U oI SIS 5 o S edud_s 4500000 éz_u,f £ () -6
A deceased left a property of worth Rs. 4500000. If he left behind a widow and two sons,
workout the share of each.

e leidey fo 6% L LU 4 4o 600 (L)

Find compound profit on Rs. 600 for 4 years at 6% per annum.

L1230 2 E K et 2 16% SN0 4000 = SE LG (L) 2T
i

The price of a tricycle is Rs. 4000. If 16% sales tax is charged, then calculate the amount

of sales tax on 30 such tricycles.

. . 2.38x3.901 2.38x3.901 s ¥
Solve with the help of logarithm: 5 e v -amn .gfu’:,uJ/w (&)

te —146 (45956,2,-2,.. .. .. A7 (L) 8
Which term ofan AP 6,2,-2,...... is —1467?

SEE i C=1{2,3,53B={11,17,19,23} c A= {1,7, 11, 15, 17, 21}.]1 (L)

(ANB)NC=AN(BNC)
IfA={1,7,11,15,17,21},B= {11, 17,19,23},C={2, 3, 5} then
verify that (ANB)NC=ANBNC)

Draw the graph: y =2x -3 y=2x-3 :é‘f/_jlf/(_ﬂ!) 9
Find mean and mode of the given data: 4,6,7,8,4,9,7, 10 :g{(}”uuuuyn%!/ (&)
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